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1. The test is of 2 hours duration and Questions
Booklet contains 100 questions. Each question
carries 02 mark. For each correct response, the

candidate will get 02 mark.
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2. Use Blue/Black Ball point Pen only for writing
particulars on this page or marking responses.
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3. Rough work is to be done on the space provided for
this purpose in the Questions Booklet only.

4. On completion of the test, the candidate must
handover the Answer Sheet to the Invigilator before
leaving the Examination Hall. The candidates are
allowed to take away this Questions Booklet with
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them after examination is over.
5. The candidates should ensure that Answer Sheet is
not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. Anywhere
else except in the specified space in the Questions

Booklet and Answer Sheet.
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6. Each candidate must show his/her Admit Card/Hall
Ticket to Invigilator whenever dema nded.
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7. No candidate should leave his / her seat without
special permission of the Invigilator/Supervisor.
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9. The candidates are governed
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Regulations of the examination wit
conduct in the Examination Hall.

All cases of unfalr means will be dealt with the rules &
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regulations of this examination.
10. No part of Booklet and Answer Sheet shall be

detached under any circumstances.
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)

2)

3)

4)

5)

Aand B can doawork in 8 days, Band Ccandothe  7)
same work in 12 days. A, B and C together can
finish the same work in 6 days, Aand C willdoitin
A. 10days - A TS
B. 8days HES S‘ c-%e 3
C. 14days B¥C = o z 1’;06
D. 12days -\ =

Y prlrc =g = %’3'&&3)

If 12 man can do a piece of work in 36 days. In how

many days 18 men can do the same work?

A. 16days :

B. 20days

C. 24days

D.. 28 days 9)

* If the wheel of a bicycle makes 1000 revolutions in
T
%60
W40
P,

travelling 2.2 km, what is its radius?
QR

A. 37.66¢cm, o
B. 38.56cm aaidd

C. 35¢cm 585 Loy
D. 36ecm 2 L= xS k.

(7

A man in a train notices that he can count 31 poles
in one minute. If they are known to be 50metres
apart, then at what speed is the train travelling?

A. 55 kmph
B. 57 kmph
C. 75kmph
D. 63kmph

A thief is spotied by a policeman from a distance of
100 metres. When the policeman starts the chase,
the thiefalso starts running. Ifthe speed of the thief
be 12 km/hr and that of the policeman 14 km/hr,

how far the thief will have run before he get

11)

caught? o
A 250m A= 60~ \ggo 00 ™
B.30m  (2x g = 1480 ™ ¢
5 5 o g

C. 500m \'}C{) & @?{ ,,g'
D. 400 6%

L g/ﬁ %
At some rate of simple interest. 'A' lent Rs.6000 to
B for 2 years and Rs.1,500 to C for 4 years and i35

received Rs.900 as interest from both of them
together. The rate of interest per annumwas ...

A. 5%

B. 6%

C. 8%

D. 10%

Which term of the arithmetic progression 1, 12,23,
34, ....,will be 99 more than 45.

A. 37

B. 47

C. 54

D. 14

If four numbers in arithmetic progression are such
that the fourth number is 7 times the first number
and their sum is 64, then the numbers are :

A. 3,6,9,12

B. 4,10,16,22

C. 5,10,15,20

D. 4,12,20,28

The sum of the integers between 60 and 600 that are
divisible by 7is ......

A. 25333 3613

B. 26728% 2%!

C. 27000

D. 24995 3§

In a group of 20 adults there are 8 females, 9 literate
and 6 female literate. Find the number of male
illiterates in the group.

A7

B. 8

C.9

D. 10

In a code language, TEST is written as TOST and
BEST is written as BOST. How will you write
NET in that code?

A. NAT
B. TEN
C. NOT
D. NIT

-~

In a row of girls, Sharda is nineth from the left and
Mita is eighteenth from the right. If they
interchange their positions, Sharda becomes
ffteenth from the left. How many girls are there in
the row?

A. 25

B. 27

C 29

D. 32

A bank gives an investor double the initial deposit
in 5 years, interest being simple interest. Then the
rate of interest is :

A. 15%

B. 16%

C. 18%

D. 20%
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The sum of ages of Mukund, Ganpat and Manik jg

o 12;’2’4.24' b ) 56. What was the sum of their ages four yeaps
B. 16 back?”
C. 40 . &
) B. 48
D. 48 C. 45
D. 44

15) 2,3.4,9.16,54,96.".
ber of hours and minutes from 7:14am109:02

A. 486 21) Num
B. 768 pm on same day is
C. 560 A. 2h12min
D. 324 B. thI6m‘
C. 13h48 min
D. 14h16m
16) Pickthe odd one
A. Dream 22) 1 ] 3_-! "
B. Walk : 2 17 [ 7 |
C. Sleep 5 |- 13 ? J
D. Bath A. 23
B. 9
17) Inacode language TRACK is written as 12345 and C. 19
CARTisas4321.So CRICKET can be written as. D. 18
A. 4264571 7' : :
B i5EdEss 23) Theaverageof 15,22,17, X, 25and 23 15 20. Find
the value of X.
C. 4264533 A. 10
D. None of these ' B. 18
C. 20
18) If4312 = NICE, 756 = PRO, then what will come D. 23
forthe number 753127
A PRICE . 24) Thesalariesnglui.Baqu,Chamarc in the ratio 2:
5 s 3:5. If the |ncr§mcnl§ of 5%, 10% and 20% are
allowed respectively in their salaries, then what
C. CEPRI will be new ratio of their salaries?
D. PIRCE A. 23:33:60 w %S L 44
. N P B. 23:31:60 oo ~ \o
19) If '+ stands for addition, '-' stands for C. 21:33:60 2\ 3.3
multiplication and 'x' stands for subtraction and '+ D. 21:33:57

stands for division, which of the responses does
25) Adealer marks his goods 20% above cost price. He

not hold good?
then allows some discount on its and makes a

A. 10x4=006 fitol 8%. Tl
o profitol §%. Therate of discount s ...,
Ei‘ 10 4_40 A. 12%
C. 10+5=02 B. 10%
D. 10-5=15 C. 6%
D. 4%
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26)

27)

28)

30)

31)

32)

Per Capita Income is obtained by dividing
National Income by:

A. Total population of the country

B. Total working population

C. Areaofthe country

D. Volume of'the capital used

Mid-Day Meal Scheme was started in the year:
A. 1995

B. 1996
C. 1997
D. 1998

Green Banking means :

A. Development of forestry by Banks

B. Financing of environmental friendly projects
by banks

C. Financing of irrigation projects by banks

D. Noneofthese

At which of the following towns the Alaknanda

and the Bhagirathi combines to form River
Ganga?

A. Haridwar

B. Rishikesh

C. Rudraprayag

D. Devprayag

Which among the following is the most populous
city inthe world ?

A. Kolkata

B. Mexico City

C. SaoPaulo

D. Tokyo

Who is known as 'LokNayak'?
A. Mahatma Gandhi

B. Subhash Chandra Bose

C. Jai Prakash Narayan

D. BalGangadharTilak

The first female Speaker of LokSabha is -
A. Vijay LaxmiPandit

B. SuchetaKripalani

C. TarkeshwariSinha

D. MeiraKumar

33 What is the term of a member of the

34)

335)

36)

37)

38)

VidhanParishad ?
A. 3years

B. 4 years
C. Syears
D. 6years

Which state isto the east of Maharashtra?
A. Kamataka

B. Punjab

C. Chhattisgarh

D. Gujarat

Pandita Ramabai opened Sharada Sadan school for
widowsintheyear_

A. 1850
B. 1885
C. 1889
D. 1925

Which one is recognized as state tree in
Maharashtra

A. BanyanTree

B. Jackfruit Tree

C. NeemTree

D. Mango Tree

On which day was Maharashtra formed after
separation from Bombay State?

A. 0] May 1960

B. 15August 1947

C. 01 Nov 1956

D. 200c1 1962

At which of the following places in Maharashtra is
the Takht Shri Hazur Sahib located (one of the 5
important seats of Sikh authority)?

A. Aurangabad

B. Punc

C. Nagpur

D. Nanded
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39)

40)

41)

42)

43)

44)

Set -

KD Jadhav from Maharashtra who won the first
individual medal for India in the Olympics was
associated with -

A. Wrestling

B. Boxing

C. Weightlifting

D. Swimming

Which of the following is a form of painting native
to Maharashtra?

A. Pattachitra
B. Kalamkari
C. Warli

D. Madhubani

Who of the following was the first recipient of the
Maharashtra Bhushan Award?

A. LataMangeshkar

B. Bhimsen Joshi

C. Sachin Tendulkar

D. Purshottam Deshpande

Ratnagiri is famous for the production of -
A. Onions

B. Grapes

C. Bananas

D. Mangoes

Which of the following places in Maharashtra is
famous for cotton bedsheets which have been
given Gl tag?

A. Amaravati

B. Solapur

C. Kolhapur

D. Sangli

Which is the largest district of Maharashtra in terms
ofarca?

A. Amaravati

B. Nagpur

C. Sangli

D. Ahmednagar

B (Senior Clerk)

45)

46)

47)

48)

49)

50)

Which of the following districts has the lowesy
density?

A. Chandrapur

B. Sindhudurg

C. Gadchiroh

D. Ratnagiri

Who of the following is known as the Mother of
Orphans because of her work in looking after
abandoned children in Maharashtra?

A. Medha Patkar

B. Sindhutai Sapkal

C. Savitribai Phule

D. Rani Bang

Who was the first person of Maharashira to
received Bharat Ratna Award

A. LataMangeshkar

B. Dhondo Keshav Karve

C. BRAmbedkar

D. VinobaBhave

In which year, Bombay city has been officially
renamed as Mumbal

A.-1995

B. 2003
C. 1971
D. 1975

Which Marathi newspaper was published by Bal
"GangadharTilak

A. Kesari

B. Poona Vaibhav

C. Sakal

D. Darpan

What percentage of population of Maharashtra is
literate as per 2011 census?

A. 82.3%

B. 79.6%

C. 86.7%

D. 80.8%
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<1} Choose the correet preposition 1o fill i the blank :

52)

53

54

55

)

—

—

Madhuleftherbag — thetelephone and then
went home,

A at

B. beside

C. besides

D. around

Complete the following sentence with the correct
alternative:

If 1 had not saved Ravi, he

A. Woulddie

B. Would have died

C. Wouldhad died

1D. Willhave died

Choose the correct alternative to complete the

sentence.

How long has he beensleeping?
He for two hours.
has been sleeping
was sleeping

slept

oOnNw>

has slept

Geeta is taller than her sister.

In the above sentence, the superlative degree of the
underlined item would be.

A. Tallest

B. tall

C. moretall

D. most tall

Correct the following sentence.

He is more cleverer than his cousin.
A. Heiscleverer than his cousii.

B. Hciscleverest than his cousin.
C. Heis most clever than his cousin.

D. Heisclever than his cousin.

5'6) All that glittersisnot gold.’

57)

58)

59)

60)

6l)

The correct transformation of this sentence into .
simple sentence is _

A. Allglillcringlhingsurcgold.

B. Allglittering things are not gold.
C. Allthingsare gold.

D. Allthingsare golden.

Choose the one which best expresses the meaning
of the given word : Indolence

A. Leniency

B. Laziness

C. Relaxation

D. Stagnation

Choose the correct synonym of the underlined
word

Inillness you must abstain from greasy food.

A. keepaway

B. eat

C. carryon

D. with

Choose the correct antonym of : ‘fiasco’
A. Cure-all

B. success

C. determination

D. result

Which of the following pairs of antonyms is
incorrect:

i) Accept x Reject

ii) Bloom x Fade

ii) Defend x Suspend

iv) Progress x Regress

A. (i)only

B. (i)and(i1)

C. (iii)only

D. (iii)and (iv)

Fill in the blank.

Aremedy forall diseases is called
A. Panacea

B. Medicia

C. Rencdia

D. Cure
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62) Choosc the correct one word substitute,

63)

64)

65)

66)

67)

68)

Set -

'One who possesses many talents’
A. Talented

B. Host

C. Versatile

D. Noneofthese

Choose the correct one word substitution for the
phrase-

Things which kill insect and germs.

A. acid

B. solution

C. insecticide

D. Antiseptic

Choose noun from of 'govern'.
A. govarmment

B. governed

C. governing

D. govern

Expression ‘to read between the lines' means-

A. tofail to know the real meaning.

B. To find more meaning than the words express.
C. Tobe uncertain about the meaning.

D. Tosearch forthe meaning.

Identify the word spelt correctly.
A. Mathematecian
B. Mathametician
C. Mathemetician
D. Mathematician

Synonym of Abjure
A. Togive

B. Totakeback

C. Happy

D. Sorry

Choose the word spelt correctly.
A. Ambulance
B. Ambulence
C. Ambulancs
D. Ambalence

B (Senior Clerk)

69) 1haveno doubt __

70)

71)

72)

73)

74)

715)

A. Al
B. On
C. Upon
D. Aboul

it

Meaning of Elbow Greas¢ 7

A. Lazy worker

B. Hard, energetic manual work
C. Automobile worker

D. Noneof these

participants left the meeting in

between.
A. Several
B. Much
C. Thefew
D. Liule

Can
A. many
nobody

help me?

B.
C. everybody
D. somebody

Despite looking for her _ . I couldn't

find her.

A. somewhere

anywhere

B.
C. everywhere
D.

nowhere

Isthere
A. nobody

at the door?

B. somebody

C. someone

D. everybody

o'clock.
A A

B. Any

C. Some
D. The

Shatabdi express will arrive at eight
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B. fazigu
C. 9T 9
D. ATHATH S =Ty
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A. Jaraeff
B. faegefi

C. amsmeft
D. fagmne

18) Wiostes ATRITET T 0 - = sl o
Gﬂa\’

A. FHHB B TN
‘C. D I T
D. 3 ¥Td AT

A. RIS
B. Ui
C. TRaTTH
D. TRIATSI®

81) ‘FHE Riches1= STomRT 81 31ef e AT
7T PHIUT? |
A. 3R
B. 3ruRIfoTd
C. Souid]
D. 31T

9

83)

84) '

85)

86)

R7)

A. GO-ATHTHAAN
B. fasmaerd &vvl
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A. ST B. g4 AU

B. 3Tl c,mmwﬁ?mamﬁﬂﬂﬂm
C. Qg D. quaq‘ruﬁmm

D. feht

A, PTHSIAD B. SUPRxTEIA
B. WIS ® C. IYHRx JTPR
C. IgTI® D. SUHR X WIFR
D. RIS

A, HEEH IO SYE] 0] :
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C. UHI 9o <1 weft firesul c. & qre aifge. oI, dl AT ATE L.
D. TETET a7 70! D. H gre gTiEe! gul kil HTFTATEL.
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B. ¥%9 A. Qe
C. gou B. Sl
D. W@y C. gl
. Arogidt
02) Wreesta) wfesares wIoraT? 2
g' g?m 99) WBRTEHA ATI-aTedl SIRT AR
c. url S frpa Bae). dredTdle Fal, $H 9
o far fepamug 3Nt
' A. FTI-ATE, SIRT, U
93) WA W wﬁ%&% SR DI B. MIERET, THH, 9dal.
WE ; C. T, e, A==
& T . o, T,
C. QU AT
D. TRTER AR 100) TR & FTH PV THRY H1R7?
A. fazrem
94) WTGATEE AH o], B. effaTae® T

’ C. qraqrad 91
D. |9 d1H
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